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QUESTION 1

If your customer wants to save storage space by compressing tables that are read frequently but rarely updated, which
compression technique would you recommend?

A.OLTP

B. ARCHIVE HIGH
C. QUERY HIGH
D. ARCHIVE LOW
E. BASIC

Correct Answer: B

QUESTION 2

Which statement is true about Oracle compression?

A. A non-patrtitioned table can use Advanced Compression and Hybrid Columnar Compression concurrently.

B. A partitioned table can define the use of Advanced Compression or Hybrid Columnar Compression for each partition.
C. Hybrid Columnar Compression can be defined for a single column.

D. A partitioned table can use only Advanced Compression or only Hybrid Columnar Compression.

Correct Answer: CD

QUESTION 3

Your customer would like to use DBFS in their Exadata environment. They are asking you for the key characteristic of
DBFS on Exadata.

A. DBFS in an Exadata environment is faster than an NFS mount system because of the Smart Scan performance
gains.

B. Tens of thousands of files are the perfect use case for DBFS on Exadata. 100% Real QandAs | 100% Real Pass
C. DBFS offers tremendous 1/0 bandwidth.

Correct Answer: B

QUESTION 4

Which two statements are true about enabling write-back flash cache?
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A. When enabling write-back flash cache in a non rolling manner, it is important to ensure that asmdeactivatonoutcome
is set to YES and asmModestatus is set to ONLINE for all grid disks.

B. Before using write-back flash cache, you need to verify the minimum required versions.
C. Before write back-flash cache is enabled, you need to drop the Flash Cache first.
D. The setting flashCacheMode should be set to writeback by updating cellinit.ora and restarting cellsrv.

E. When enabling write-back flash cache in a rolling manner, dcli should be used to inactivate the grid disks on all cells
first.

Correct Answer: BC

QUESTION 5

Which CellCLI command is used to conclude that a storage server can be taken offline without impacting database
availability?

A. LIST GRIDDISK ATTRIBUTES name, asmDeactivationOutcome;
B. LIST CELLDISK ATTRIBUTES name, raidLevel,

C. LIST CELL ATTRIBUTES cellsrvStatus, flashCacheMode;

D. LIST CELLDISK ATTRIBUTES name, raidLevel, asmModeStatus;
E. LIST GRIDDISK ATTRIBUTES name, status;

Correct Answer: A
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